0184910282 HANSAMIX - Afwerkset bad -en douchekraan

EAN: 4015474640993
statichansa.com/0184910282

Reserveonderdelen
SP01849102
Naam Code
1 Hendel, (-2004) Chroom 59901882
1 Hendel Wit 5990188282
3 11 Schroef, M5x8, SW2.5 59904755
12 Joint klassiek uitloop 59904778
13 Plug, hot/cold 59906705
2 Kap Chroom 59904820
25 Rubberen pakking 59912232
5 Omsteller Goud 59906392
5 Omsteller Wit 59910901
5 Omsteller Chroom 59910900
52 Push button Chroom 59904828
53 Dichting 59904791
71 Schroef, M5x65 Chroom 59904847
1Al Schroef, M5x65 Wit 59906672
7 Schroef, M5x65 Goud 59904849
73 Kapmet begrenzer keuken 59904846

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/0184910282

